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Class – 10th (MAT) 

Mental Ability Test 

   Questions : 100  Max. Marks : 100                                       Time : 2 Hours 

Direction : (Q. 1 to 5) What   number 

will come at the place of question mark ? 

  

funsZ'kfunsZ'kfunsZ'kfunsZ'k    % ¼iz0 % ¼iz0 % ¼iz0 % ¼iz0 1    ls ls ls ls 5½½½½    iz’uokpd fpg~u ds LFkku 

ij dkSu&lh la[;k vk,xh \ 

1. 4, –8, 16, –32, 64, ? 

(1) 128  

(2) –128 

(3) –64  

(4) –192 

  

1. 4, –8, 16, –32, 64, ? 

(1) 128  

(2) –128 

(3) –64  

(4) –192 

2. (?),
24

1
,

36

1
,

54

1
,

81

1
 

(1) 
32

1
  

(2) 
9

1
 

(3) 
16

1
  

(4) 
18

1
 

  

2. (?),
24

1
,

36

1
,

54

1
,

81

1
 

(1) 
32

1
  

(2) 
9

1
 

(3) 
16

1
  

(4) 
18

1  
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3. 2, 6, 3, 4, 20, 5, 6, (?), 7 

(1) 25  

(2) 28 

(3) 30  

(4) 42 

  
3. 2, 6, 3, 4, 20, 5, 6, (?), 7 

(1) 25  

(2) 28 

(3) 30  

(4) 42 

4. 10, 5, 13, 10, 16, 20, 19, (?) 

(1) 22 

(2) 23 

(3) 38  

(4) 40 

  
4. 10, 5, 13, 10, 16, 20, 19, (?) 

(1) 22 

(2) 23 

(3) 38  

(4) 40 

5. 30, 2, 20, 6, 12, 12, ? 

(1) 6 

(2) 8 

(3) 10 

(4) 15 

  
5. 30, 2, 20, 6, 12, 12, ? 

(1) 6 

(2) 8 

(3) 10 

(4) 15 
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Direction : (Q. 6 to 8) Which number 

will replace the question mark ? 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 6    ls ls ls ls 8½½½½ iz’uokpd fpg~u ds LFkku 

ij dkSu&lh la[;k vk,xh \ 

 

6. 

 

(1) 81 

(2) 68 

(3) 100 

(4) 121 

  

 

6. 

 

(1) 81 

(2) 68 

(3) 100 

(4) 121 

7. 

 

(1) 29  

(2) 31 

(3) 28  

(4) 33 

  

7. 

 

(1) 29  

(2) 31 

(3) 28  

(4) 33 
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8. 

 

(1) 1.61 

(2) 10.50 

(3) 12.25  

(4) None 

   

8. 

 

(1) 1.61 

(2) 10.50 

(3) 12.25  

(4) dksbZ ugha 

9. If we fold figure (x) to make a Box, 

then what will be opposite to 5 ? 

  

(1) 3  

(2) 2 

(3) 1  

(4) 6 

  

9. ;fn ge vkd`fr (x) dks eksM+dj ckWDl 

cuk;sa] rc 5 ds foijhr D;k gksxk \ 

  

(1) 3  

(2) 2 

(3) 1  

(4) 6 

10. How many Triangles are in the 

given figure ? 

 

(1) 18 (2) 17 

(3) 27 (4) 25 

  

10. nh xbZ vkd`fr esa fdrus f=Hkqt gSa \ 

  

(1) 18 (2) 17 

(3) 27 (4) 25 
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11. How many straight lines are in 

given figure ? 

 

(1) 10 

(2) 11 

(3) 12  

(4) 13 

  

11. nh xbZ vkd`fr esa fdruh lh/kh js[kk;sa gSa \ 

 

(1) 10 

(2) 11 

(3) 12  

(4) 13 

12. How many Rectangles are in given 

figure ? 

 

(1) 315 

(2) 70 

(3) 245  

(4) None 

  

12. nh xbZ vkd`fr esa fdrus vk;r gSa \ 

 

(1) 315 

(2) 70 

(3) 245  

(4) dksbZ ugha 
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Direction : (Q. 13 to 15) P, Q, R, S, T 

and U are sitting along the circle facing 

the center. 

(a) P is immediate neighbour of Q who is 

second to the right of R. 

(b) S is second to the left of T. 

(c) U is immediate neighbour of T. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 13    ls ls ls ls 15½½½½ P, Q, R, S, T vkSj U 

,d òÙk esa dsUnz dh rjQ eqag djds cSBs gSaA 

 

(a)  P, Q dk rRdky iM+kslh gS tks R ds nk;ha 

vksj nwljk gSA 

(b) S, T ds ck;ha vksj nwljk gSA 

(c) U, T dk rRdky iM+kslh gSA 

13. Which of the following is correct ? 

(1) S is between U and R. 

(2) Q is between P and T. 

(3) P is between Q and R. 

(4) T is between U and Q. 

  
13. fuEufyf[kr esa ls dkSu&lk lghlghlghlgh gS \ 

(1) S, U vkSj R ds chp gSA 

(2) Q, P vkSj T ds chp gSA 

(3) P, Q vkSj R ds chp gSA 

(4) T, U vkSj Q ds chp gSA 

14. What is the position of U ?  

(1) Second to the right of R 

(2) Between T and P 

(3) To the immediate left of S 

(4) Second to the right of Q 

  
14. U dh fLFkfr D;k gS \ 

(1) R ds nk;ha vksj nwljk 

(2) T vkSj P ds chp 

(3) S ds rRdky ck;ha vksj  

(4) Q ds nk;ha vksj nwljk 
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15. Which of the following is wrong ? 

(1) P is to the immediate left of R. 

(2) Q is to the immediate right of 

P. 

(3) S is to the immediate right of 

Q. 

(4) T is to the immediate right of 

U. 

  
15. fuEu esa ls dkSu&lk xyrxyrxyrxyr gS \ 

(1) P, R ds rRdky ck;ha vksj gSA 

(2) Q, P ds rRdky nk;ha vksj gSA 

 

(3) S, Q ds rRdky nk;ha vksj gSA 

 

(4) T, U ds rRdky nk;ha vksj gSA 

Direction : (Q. 16 & 17)  

(a) ‘P × Q’ means ‘P is brother of Q’ 

(b) ‘P ÷ Q’ means ‘P is sister of Q’ 

(c) ‘P + Q’ means ‘P is father of Q’ 

(d) ‘P – Q’ means ‘P is mother of Q’ 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 16    ,oa ,oa ,oa ,oa 17½½½½  

(a)  'P × Q' dk vFkZ 'P, Q' dk HkkbZ gSA 

(b) 'P ÷ Q' dk vFkZ 'P, Q' dh cgu gSA 

(c) 'P + Q' dk vFkZ 'P, Q' dk firk gSA 

(d) 'P – Q' dk vFkZ 'P, Q' dh ekrk gSA 

16. Which of the following means ‘S is 

nephew of R’ ? 

(1) S × T ÷ J + R  

(2) R ÷ M – S + T 

(3) R – M ÷ S × T  

(4) R + M – S ÷ T 

  
16. fuEu esa ls fdldk vFkZ ;g gS fd S, R 

dk Hkrhtk gS \ 

(1) S × T ÷ J + R  

(2) R ÷ M – S + T 

(3) R – M ÷ S × T  

(4) R + M – S ÷ T 
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17. Which of the following means M is 

grandfather of W ? 

(1) M – J ÷ W  

(2) M + J × W 

(3) M × T + W 

(4) M + J – W 

  
17. fuEu esa ls fdldk vFkZ ;g gS fd M, W 

dk nknk gS \ 

(1) M – J ÷ W  

(2) M + J × W 

(3) M × T + W 

(4) M + J – W 

18. If 283 is written as 328, 347 as 734 

and so on, then which of the 

following two numbers will have 

least difference between   them ? 

(1) 827 and 347  

(2) 347 and 518 

(3) 748 and 518   

(4) 518 and 829 

  
18. ;fn 283 dks 328, 347 dks 734 vkSj 

vU; dks Hkh blh izdkj ls fy[kk tkrk gSA 

rc fuEu esa ls dkSu&lh la[;kvksa ds chp 

dk varj lcls de gksxk \ 

(1) 827 vkSj 347  

(2) 347 vkSj 518 

(3) 748 vkSj 518   

(4) 518 vkSj 829 

Direction : (Q. 19 to 21) These 

questions are based on the following 

arrangement of symbols, letters and 

numbers. 

$ L 2 = ? P C 7 % E H @ ÷ 8 K B M 5 T V 3 * 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 19    ls ls ls ls 21½ ½ ½ ½ fuEufyf[kr iz’u 

fpUgksa] o.kZ vkSj la[;kvksa dh O;oLFkk ij vk/kkfjr 

gSaA 

 

$ L 2 = ? P C 7 % E H @ ÷ 8 K B M 5 T V 3 * 
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19. How many such symbols are there 

in the arrangement, each of which is 

immediately preceded by a letter ? 

(1) 1 

(2) 2 

(3) 3 

(4) 4 

  
19. O;oLFkk esa fdrus ,sls fpUg gSa ftuesa ls 

izR;sd dks rqjar ,d o.kZ }kjk vkxs c<+k;k 

tkrk gS \ 

(1) 1 

(2) 2 

(3) 3 

(4) 4 

20. If all the numbers are deleted from 

the arrangement, which element 

will be the 7th to the left of the 

14th element from the left end ? 

(1) %  

(2) H 

(3) @ 

(4) C 

  
20. ;fn lHkh la[;kvksa dks bl O;oLFkk ls gVk 

fn;k tkrk gS] rks dkSu&lk rRo ck;ha vksj 

ls 14osa rRo ds ck,a 7oka gksxk \ 

 

(1) %  

(2) H 

(3) @ 

(4) C 

21. ‘2 = P’ is related to ‘7 % H’ in the 

arrangement in the same way as 

‘……….' is related to ‘M5V’. 

(1) ÷ 8 S  

(2) ÷ @ K 

(3) @ ÷ K 

(4) @ ÷ 8 

  
21. ‘2 = P’, ‘7 % H’ ls lacaf/kr mlh rjg 

O;oLFkk esa gS tSls '………..' ‘M5V’ ls 

lacaf/kr gSA 

(1) ÷ 8 S  

(2) ÷ @ K 

(3) @ ÷ K 

(4) @ ÷ 8 
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22. Odd one out : 

(1) FASTER  

(2) BIGGER 

(3) GREATER  

(4) LARGER 

  
22. vlaxr NkVsa % 

(1) FASTER  

(2) BIGGER 

(3) GREATER  

(4) LARGER 

23. Choose most similar word in 

meaning in the words following : 

ROSE  

(1) Awake  

(2) Erected 

(3) Upright  

(4) Stood 

  
23. fuEu 'kCnksa esa ls lcls vf/kd leku 'kCn 

pqusa % 

ROSE 

(1) Awake  

(2) Erected 

(3) Upright  

(4) Stood 

24. Ram went 15 Km. North of his 

house. After this, he turned West 

and walked a distance of 10 Km., 

after which he turned and walked 

a distance of 5 Km. South and 

finally he turned East and walked 

10 Km. Now in which direction is 

he from his house ? 

(1) EAST  

(2) WEST 

(3) NORTH 

(4) SOUTH 

  
24. jke vius ?kj ls 15 fdeh0 mÙkj dh vksj 

x;kA blds ckn og if’pe dh vksj eqM+k 
vkSj 10 fdeh0 dh nwjh r; dhA blds 
ckn og nf{k.k dh vksj eqM+dj 5 fdeh0 
pykA var esa og iwoZ dh vksj eqM+ x;k 
vkSj 10 fdeh0 pykA vc og vius ?kj 
ls fdl fn’kk esa gS \ 
 

(1) iwoZ 

(2) if'pe 

(3) mÙkj 

(4) nf{k.k 
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25. Looking at a picture, Radha 

reveals that his mother’s only 

daughter is my mother. How is 

Radha related to that person ? 

(1) Nephew 

(2) Sister 

(3) Wife 

(4) Niece 

  
25. ,d fp= dks ns[kdj jk/kk crkrh gS fd 

mldh ekrk dh ,dek= iq=h esjh ek¡ gSA 

jk/kk dk ml O;fDr ls D;k laca/k gS \ 

 

(1) Hkrhtk 

(2) cgu 

(3) iRuh 

(4) Hkkath 

26. If ‘–’ means ‘×’, ‘×’ means ‘+’, ‘+’ 

means '÷' and '÷' means ‘–’, then    

40 × 12 + 3 – 6 ÷ 60 = ? 

(1) 7.95 (2) 16 

(3) 4 (4) 479.95 

  
26. ;fn ‘–’ dk vFkZ ‘×’, ‘×’ dk vFkZ ‘+’, ‘+’   

dk vFkZ '÷' vkSj '÷' dk vFkZ ‘–’ gS] rks   

40 × 12 + 3 – 6 ÷ 60 = ? 

(1) 7.95 (2) 16 

(3) 4 (4) 479.95 

27. ‘ASTOUNDER’ word can be 

divided into how many independent 

words without changing the order 

of letters and using each letter 

only once ? 

(1) 0  

(2) 1 

(3) 2 

(4) 3 

  
27. ‘ASTOUNDER’ 'kCn dks v{kjkas ds Øe 

eas fcuk fdlh cnyko ds rFkk izR;sd v{kj 

dk ek= ,d ckj iz;ksx djrs gq, fdrus 

Lora= 'kCnksa esa ck¡Vk tk ldrk gS \ 

 

(1) 0  

(2) 1 

(3) 2 

(4) 3 
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28. If the day before Yesterday was 

Thursday, then when would it be 

Sunday ? 

(1) Today 

(2) 2 days after Today 

(3) Tomorrow 

(4) Yesterday 

  
28. ;fn dy ls igys okyk fnu ohjokj Fkk] rks 

jfookj dc gksxk \ 

 

(1) vkt 

(2) vkt ds 2 fnu ckn 

(3) dy 

(4) chrk gqvk dy 

Direction : (Q. 29 & 30) Put the given 

words in the sequence as in the 

dictionary and then select the correct 

sequence. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 29    oooo    30½½½½    fn;s x;s 'kCnksa dks 

'kCndks"k dh Hkkafr vuqØe esa j[ksa vkSj mlds ckn 

lghlghlghlgh vuqØe dk p;u djsaA 

29. (A) Palisade   

(B) Protect 

(C) Pursuit   

(D) Profession 

(E)  Process 

(1) A, B, D, E, C  

(2) A, D, B, E, C 

(3) A, E, B, D, C  

(4) A, E, D, B, C 

  
29. (A) Palisade   

(B) Protect 

(C) Pursuit   

(D) Profession 

(E)  Process 

(1) A, B, D, E, C  

(2) A, D, B, E, C 

(3) A, E, B, D, C 

(4) A, E, D, B, C 
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30. (A) Credential   

(B) Compensate 

(C) Credible  

(D) Cremate 

(E)  Collapse 

(1) B, E, A, C, D 

(2) E, B, C, A, D 

(3) E, B, A, C, D 

(4) B, E, C, A, D 

  
30. (A) Credential   

(B) Compensate 

(C) Credible  

(D) Cremate 

(E)  Collapse 

(1) B, E, A, C, D 

(2) E, B, C, A, D 

(3) E, B, A, C, D 

(4) B, E, C, A, D 

31. Museum is related to Curator in 

the same way as Prison is related 

to ............. . 

(1) Manager 

(2) Monitor 

(3) Jailor  

(4) Warden 

  
31. ‘Museum’, ‘Curator’ ls mlh rjg 

lacaf/kr gS tSls fd ‘Prison’ '…………..' 

ls lacaf/kr gSA  

(1) Manager 

(2) Monitor 

(3) Jailor  

(4) Warden 
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32. Choose a meaningful word with 

given numbers. 

1 A  2 B 

3 L  4 R 

5 O  6 U 

(1) 5, 6, 3, 1, 2, 4  

(2) 3, 1, 2, 5, 6, 4 

(3) 5, 6, 4, 2, 3,1  

(4) 4, 5, 6, 3, 2, 1 

  
32. nh xbZ la[;kvksa ds lkFk ,d vFkZiw.kZ 'kCn 

pqusaA  

1 A  2 B 

3 L  4 R 

5 O  6 U 

(1) 5, 6, 3, 1, 2, 4  

(2) 3, 1, 2, 5, 6, 4 

(3) 5, 6, 4, 2, 3,1  

(4) 4, 5, 6, 3, 2, 1 

33. If 43 = 158, 35 = 824, 42 = 153, 

then 32 = ? 

(1) 84  

(2) 83 

(3) 85 

(4) 94 

  
33. ;fn 43 = 158, 35 = 824, 42 = 153, 

rc 32 = ? 

(1) 84  

(2) 83 

(3) 85 

(4) 94 

34. If (14)3 is added to the square of a 

number, the answer so obtained is 

4425. What is the number ? 

(1) 1849  

(2) 43 

(3) 41 

(4) 1681 

  

34. ;fn fdlh la[;k ds oxZ esa (14)3 dks tksM+k 
tkrk gS] rks izkIr mÙkj 4425 gSA la[;k 
D;k gS \ 

(1) 1849  

(2) 43 

(3) 41 

(4) 1681 
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35. The ratio of the present ages of 

Ajay and Vijay is 7 : 6 and the 

product of their ages is 672 years. 

How old was Vijay 4 years ago ? 

(1) 20 years 

(2) 18 years 

(3) 15 years 

(4) 25 years 

  
35. vt; vkSj fot; dh orZeku vk;q dk 

vuqikr 7 : 6 gS rFkk mudh vk;q dk 

xq.kuQy 672 o"kZ gSA 4 o"kZ igys fot; 

fdrus o"kZ dk Fkk \ 

(1) 20 o"kZ 

(2) 18 o"kZ 

(3) 15 o"kZ 

(4) 25 o"kZ 

Direction : (Q. 36 to 40) K, L, M, N, P, 

Q, R, S, U and W are the only 10 

members in a department. There is a 

proposal to form a team within the 

members of the department, subject to 

the following conditions. 

(a) A team must include exactly one 

among P, R and S. 

(b) A team must include either M or Q 

but not both. 

(c) If a team includes one among S, U 

and W, then it must also include the 

other two. 

  
funsZ’k % ¼izfunsZ’k % ¼izfunsZ’k % ¼izfunsZ’k % ¼iz0000    36    ls ls ls ls 40½½½½ K, L, M, N, P, Q, 

R, S, U vkSj W ,d foHkkx esa 10 lnL; gSaA 

fuEufyf[kr fLFkfr;ksa ds v/khu foHkkx ds lnL;ksa ds 

Hkhrj ls ,d Vhe cukus dk izLrko gSA 

 

(a) ,d Vhe dks P, R vkSj S  eas ls ,d dks 

'kkfey djuk pkfg,A 

(b) ,d Vhe eas M ;k Q eas ls ,d 'kkfey gksuk 

pkfg,] ysfdu nksuksa ughaA 

(c) ;fn fdlh Vhe eas S, U vkSj W eas ls ,d 

'kkfey gS] rks mls vU; nks dks Hkh 'kkfey 

djuk gksxkA 
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(d) If a team includes K, then it must 

also include L and vice versa. 

(e) L and N cannot be members of the 

same team. 

(f) L and U cannot be members of the 

same team. 

(d) ;fn fdlh Vhe esa K, ’kkfey gS] rks L dks Hkh 

'kkfey djuk gksxk vkSj foijhr HkhA 

(e) L vkSj N ,d gh Vhe ds lnL; ugha gks ldrs 

gSaA 

(f) L vkSj U ,d gh Vhe ds lnL; ugha gks ldrs 

gSaA 

36. What would be the size of the 

largest possible team ? 

(1) 8  

(2) 7 

(3) 6 

(4) 5 

  
36. lcls cM+h laHko Vhe dk vkdkj D;k 

gksxk \ 

(1) 8  

(2) 7 

(3) 6 

(4) 5 

37. What would be the size of a team 

that includes K ? 

(1) 2 and 3 

(2) 2 and 4 

(3) only 2 

(4) only 4 

  
37. ml Vhe dk vkdkj D;k gksxk ftlesa K 

'kkfey gksxk \ 

(1) 2 vkSj 3 

(2) 2 vkSj 4 

(3) dsoy 2 

(4) dsoy 4 
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38. In how many ways a team can be 

constituted so that the team 

includes N ? 

(1) 6  

(2) 5 

(3) 4 

(4) 3 

  
38. fdrus rjhdksa ls ,d Vhe xfBr dh tk 

ldrh gS rkfd Vhe esa N 'kkfey gks \ 

 

(1) 6  

(2) 5 

(3) 4 

(4) 3 

39. Who can not be a member of a 

team of size 3 ? 

(1) L 

(2) M 

(3) N 

(4) P 

  
39. 3 lnL;ksa dh Vhe esa dkSu ughaughaughaugha gks ldrk 

gS \ 

(1) L 

(2) M 

(3) N 

(4) P 

40. Who can be a member of a team of 

size 5 ? 

(1) K  

(2) L 

(3) M 

(4) P 

  

40. 5 lnL;ksa dh Vhe dk lnL; dkSu gks ldrk 

gS \ 

(1) K  

(2) L 

(3) M 

(4) P 
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Direction : (Q. 41 to 45) In each 

question, the main statement is followed 

by four sentences. Select the pair of 

sentences that relate logically to the 

given statement. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 41    ls ls ls ls 45½½½½ izR;sd iz’u esa] eq[; 

okD; pkj okD;ksa ds ckn gksrk gSA fn, x, dFkuksa 

esa rkfdZd :i ls lacaf/kr okD;ksa dh tksM+h dk 

p;u djsaA 

41. Either Gita is sick or she is 

careless. 

A. Gita is not Sick 

B. Gita is not Careless 

C. Gita is Sick 

D. Gita is Careless 

(1) AB  (2) AD 

(3) BA  (4) DA 

  
41. ;k rks xhrk chekj gS ;k og ykijokg   

gSA 

A. xhrk chekj ugha gS 

B. xhrk ykijokg ugha gS 

C. xhrk chekj gS 

D. xhrk ykijokg gS 

(1) AB  (2) AD 

(3) BA (4) DA 

42. Raman gets a swollen nose-

whenever he eats hamburgers. 

(A) Raman gets a swollen nose. 

(B) Raman does not eat hamburgers. 

(C) Raman does not get a swollen 

nose. 

(D) Raman eats hamburgers. 

(1) AB (2) DC 

(3) AC  (4) None 

  
42. tc Hkh jeu gSEcxZj [kkrk gS rks mldh 

ukd lwth gqbZ feyrh gSA 

(A) jeu dh ukd lwth gqbZ feyrh gSA 

(B) jeu gSEcxZj ugha [kkrk gSA 

(C) jeu dh ukd lwth gqbZ ugha feyrh 

gSA 

(D) jeu gSEcxZj [kkrk gSA 

(1) AB  (2) DC 

(3) AC  (4) dksbZ ugha 
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43. Either the employers have no 

confidence in the management or 

they are hostile by nature. 

(A) They are hostile by nature. 

(B) They are not hostile by nature. 

(C) They have confidence in the 

management. 

(D) They have no confidence in the 

management. 

(1) BA  

(2) CB 

(3) DA  

(4) BD 

  
43. ;k rks fu;ksDrkvksa dks izca/ku ij dksbZ 

Hkjkslk ugha gS ;k os LoHkko ls 'k=qrkiw.kZ 
gSaA 

(A) os LoHkko ls 'k=qrkiw.kZ gSaA 

(B) os LoHkko ls 'k=qrkiw.kZ ugha gSaA 

(C) mudks izca/ku ij Hkjkslk gSA 
 

(D) mudks izca/ku ij Hkjkslk ugha gSA 
 

(1) BA  

(2) CB 

(3) DA  

(4) BD 

44. When ever Raman reads late into 

the nights, his father beats him. 

(A) Raman’s father does not beat 

him. 

(B) Raman reads late into the 

night. 

(C) Raman reads early in the 

morning. 

(D) Raman’s father beats him in 

the morning. 

(1) CD  

(2) BD 

(3) AB   

(4) None of these 

  
44. tc Hkh jeu nsj jkr i<+rk gS rks mlds 

firk mls ihVrs gSaA 

(A) jeu ds firk mls ihVrs ugha gSaA 
 

(B) jeu nsj jkr rd i<+rk gSA 
 

(C) jeu lqcg tYnh i<+rk gSA 
 

(D) jeu ds firk th mls lqcg ihVrs gSaA 
 

(1) CD  

(2) BD 

(3) AB  

(4) buesa ls dksbZ ugha 
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45. All irresponsible parents shout if 

their children do not read. 

(A) All irresponsible parents do 

not shout. 

(B) Children read. 

(C) Children do not read. 

(D) All irresponsible parents  

shout. 

(1) AB   

(2) BA 

(3) CA   

(4) All of these 

  
45. lHkh xSj&ftEesnkj ekrk&firk fpYykrs gaS 

;fn muds cPps ugha i<+rs gSaA 

(A) lHkh xSj&ftEesnkj ekrk&firk fpYykrs 

ugha gSaA 

(B) cPps i<+rs gaSA 

(C) cPps i<+rs ugha gSaA 

(D) lHkh xSj-ftEesnkj ekrk&firk fpYykrs 

gSaA 

(1) AB   

(2) BA 

(3) CA   

(4) mijksDr lHkh 

Direction : (Q. 46 to 49) Choose exact 

venn diagram for given conditions in the 

Questions. 

 

  

funsfunsfunsfuns Z’k % ¼iz0 Z’k % ¼iz0 Z’k % ¼iz0 Z’k % ¼iz0 46    ls ls ls ls 49½½½½    iz’u esa nh xbZ fLFkfr 

ds fy, lgh osu vkjs[k pqusaA 
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46. A : Apples are not Sweets. 

B : All Sweets are tasty. 

C : No apple is tasty. 

  
46. A : lsc feBkbZ ugha gSaA 

B : lHkh feBkbZ;k¡ Lokfn"V gSaA 

C : dksbZ Hkh lsc Lokfn"V ugha gSA 

47. A : Some popular people are 

handsome. 

B :  All actors are handsome. 

C :  Some actors are popular. 

  
47. A : dqN yksdfiz; yksx laqnj gSaA 

 

B :  lHkh dykdkj lqanj gSaA 

C :  dqN dykdkj yksdfiz; gSaA 

48. A : All bad things are men. 

B : All men are sad. 

C : Some sad things are bad. 

  
48. A : lHkh cqjh phtsa iq#"k gSaA 

B :  lHkh iq#"k mnkl gSaA 

C :  dqN mnkl phtsa cqjh gSaA  

49. A : Oranges are not sweet. 

B : Some sweets are apples. 

C : Some oranges are apples. 

  
49. A : larjs feBkbZ ugha gSaA 

B :  dqN feBkbZ;k¡ lsc gSaA 

C :  dqN larjs lsc gSaA   

50. Find the time between 9:00 and 

10:00 when the clock needles 

coincide : 

(1) 
11

9
10:9  (2) 

11

10
47:9  

(3) 
11

4
46:9  (4) 

11

1
49:9  

  

50. 9:00 vkSj 10:00 ds chp og le; Kkr 

dhft, tc ?kM+h dh lwb;k¡ laikrh gksaxh % 

 

(1) 
11

9
10:9  (2) 

11

10
47:9  

(3) 
11

4
46:9  (4) 

11

1
49:9  
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Direction : (Q. 51 & 52) Study the 

following information carefully and 

answer the questions given below : 

The Sum of the income of A and B is 

greater than the income of both C and D. 

The sum of the income of A and C is 

equal to the income of both B and D. A, 

earns half of the sum of B’s and D’s 

income. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 51    oooo    52½½½½    fuEufyf[kr lwpuk dk 

/;ku ls v/;;u djrs gq, uhps fn;s x;s iz’uksa ds 

mÙkj nsa % 

A vkSj B dh vk; dk ;ksx C vkSj D nksukas dh 

vk; ls vf/kd gSA A vkSj C dh vk; dk ;ksx 

B vkSj D nksukas dh vk; ds cjkcj gSA A, B 

vkSj D dh vk; ds ;ksx ds vk/ks ds cjkcj 

dekrk gSA 

51. Which of the following statement 

is false ? 

(1) A’s income is more than B’s 

(2) B’s income is more than D’s 

(3) C’s income is more than D’s 

(4) All are right 

  
51. fuEufyf[kr esa ls dkSu&lk dFku xyrxyrxyrxyr 

gS \ 

(1) A dh vk; B ls vf/kd gS 

(2) B dh vk; D ls vf/kd gS 

(3) C dh vk; D ls vf/kd gS 

(4) lHkh lgh gSa 

52. Who has the highest income ? 

(1) A  

(2) B 

(3) C 

(4) D 

  
52. fdldh vk; lcls vf/kd gS \ 

(1) A  

(2) B 

(3) C 

(4) D 
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53. Find the time between 9:00 and 

10:00 when the clock needles are 

in opposite direction. 

(1) 
11

9
10:9   

(2) 
11

4
16:9  

(3) 
11

10
11:9  

(4) None 

  

53. 9:00 vkSj 10:00 ds chp og le; Kkr 

dhft, tc ?kM+h dh lwb;k¡ foijhr fn’kk esa 

gksaxhA 

(1) 
11

9
10:9   

(2) 
11

4
16:9  

(3) 
11

10
11:9  

 (4) dksbZ ugha 

54. Which is the Venn diagram 

showing the correct relationship 

between Doctor, Lawyer and 

Professionals ? 

(1)  

(2)  

(3)  

(4)  

  

54. MkWDVj] odhy vkSj is’ksojksa ds chp lgh 

laca/k dks n’kkZus okyk osu vkjs[k dkSu&lk 

gS \ 

(1)  

(2)  

(3)  

(4)  
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55. What day was on 8 March 2011 ? 

(1) Monday  

(2) Tuesday 

(3) Wednesday  

(4) None 

  
55. 8 ekpZ 2011 dks dkSu&lk fnu Fkk \ 

(1) lkseokj 

(2) eaxyokj 

(3) cq/kokj 

(4) buesa ls dksbZ ugha 

Direction : (Q. 56 to 58) In each 

Question (1), (2), (3) and (4) figures are 

given, out of which 3 figures are similar 

in a way, yet one figure does not match 

the other three. Select the incompatible 

figures for the other three. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 56    ls ls ls ls 58½½½½    izR;sd iz’u eas (1), 

(2), (3) rFkk (4) vkd`fr;k¡ nh x;h gSa ftuesa ls 

3 vkd`fr;k¡ ,d izdkj ls lekurk j[krh gSaA fQj 

Hkh ,d vkd`fr vU; 3 ls esy ugha [kkrhA ml 

vkd`fr dks pqfu,A 

 

56. 

 

  

 

56. 

 

 

57. 

 

  

 

57. 
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58. 

 

  

 

58. 

 

Direction : (Q. 59 to 61) In each of the 

following questions, 3 question figures 

are given as A, B, C and 4 answer figures 

are given as 1, 2, 3 and 4. Select the 

figure from the answer figures that will 

continue the series given in the question 

figures. 

  funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 59    ls ls ls ls 61½½½½    fuEufyf[kr izR;sd 

iz’u eas 3 iz’u vkd`fr;ksa ds :i esa rFkk pkj 

mÙkj vkd`fr;kas 1, 2, 3 vkSj 4 ds :i eas nh x;h 

gSaA mÙkj vkd`fr;ksa esa ls ml vkd`fr dk p;u 

dhft, tks iz’u vkd`fr;ksa esa nh x;h Ük`a[kyk dks 

tkjh j[ksxhA 

59. 

 

 

 

  

59. 

 

 

 

iz'u vkd`fr;k¡iz'u vkd`fr;k¡iz'u vkd`fr;k¡iz'u vkd`fr;k¡    

mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡    
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60. 

 

 

 

  

60. 

 

 

 

61. 

 

 

  

61. 

 

mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡    

iz'u vkd`fr;k¡iz'u vkd`fr;k¡iz'u vkd`fr;k¡iz'u vkd`fr;k¡    

iz'u vkd`fr;k¡iz'u vkd`fr;k¡iz'u vkd`fr;k¡iz'u vkd`fr;k¡    

mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡mÙkj vkd`fr;k¡    
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62. Opposite of ‘AWKWARDNESS’ : 

(1) Artistic   

(2) Clever 

(3) Experience  

(4) Straight 

  
62. ‘AWKWARDNESS’ dk foykse 'kCn % 

(1) Artistic   

(2) Clever 

(3) Experience  

(4) Straight 

63. Synonym of ‘COMPETITOR’ : 

(1) Actor  

(2) Rival 

(3) Match  

(4) Player 

  
63. ‘COMPETITOR’ dk lekukFkZd 'kCn % 

(1) Actor  

(2) Rival 

(3) Match  

(4) Player 

64. If coding for ‘EXAMINATIONS’ is 

1 2 3 4 5 6 3 7 5 8 6 9 then coding 

for ‘NOMINATION’ : 

(1) 6 8 5 4 6 3 7 5 8 6 

(2) 6 8 4 5 6 3 7 5 8 6 

(3) 8 6 4 5 6 3 7 5 8 6 

(4) 6 8 4 5 6 3 5 7 8 6 

  
64. ;fn ‘EXAMINATIONS’ ds fy, dksfMax 

1 2 3 4 5 6 3 7 5 8 6 9 gks] rks 

‘NOMINATION’  ds fy, dksfMax gksxh % 

(1) 6 8 5 4 6 3 7 5 8 6 

(2) 6 8 4 5 6 3 7 5 8 6 

(3) 8 6 4 5 6 3 7 5 8 6 

(4) 6 8 4 5 6 3 5 7 8 6 
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Direction : (Q. 65 to 69) Odd one out. 
  

funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 65    ls ls ls ls 69½½½½ vlaxr NkaVsaA 

65. (1) Bd Eg   

(2) Km Np 

(3) Pr Su   

(4) Tw Xz 

  
65. (1) Bd Eg   

(2) Km Np 

(3) Pr Su   

(4) Tw Xz 

66. (1) 9 – 3  

(2) 
8

1

2

1
−   

(3) 
12

1

3

1
−   

(4) 24 – 6 

  

66. (1) 9 – 3  

(2) 
8

1

2

1
−   

(3) 
12

1

3

1
−   

(4) 24 – 6 

67. (1) Moscow   

(2) New Delhi 

(3) Beijing   

(4) Newyork 

  
67. (1) Moscow   

(2) New Delhi 

(3) Beijing   

(4) Newyork 

68. (1) Army : General 

(2) Team : Captain 

(3) Crèche : Child 

(4) Meeting : Chairman 

  
68. (1) Army : General 

(2) Team : Captain 

(3) Crèche : Child 

(4) Meeting : Chairman 
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69. Count the member of triangles 

and squares in the figure given 

below. 

   

 

(1) 26 Triangles, 5 Squares 

(2) 26 Triangles, 6 Squares 

(3) 27 Triangles, 6 Squares 

(4) 28 Triangles, 5 Squares 

  
69. fuEu nh xbZ vkd`fr esa f=Hkqtksa vkSj oxksZa 

dh la[;k crk,a % 

 

  

 

(1) 26 f=Hkqt, 5 oxZ 

(2) 26 f=Hkqt, 6 oxZ 

(3) 27 f=Hkqt, 6 oxZ 

(4) 28 f=Hkqt, 5 oxZ 

70. In the following question, a square 

transparent paper is given along 

with a pattern four option figures are 

given below, which show the shape 

formed after the paper is folded on 

the dot line. select the one that 

completes the pattern answer figure. 

  
70. fuEufyf[kr iz’u esa ,d oxkZdkj ikjn’khZ 

dkxt ,d izfr:i ds lkFk fn;k x;k gS uhps 

pkj fodYi vkd`fr;k¡ nh xbZ gSa tks dkxt ds 

fcanq js[kk ij eqM+us ds ckn cuus okyh vkd`fr 

dks n’kkZrh gSaA izfr:i dks iw.kZ djus okyh 

vkd`fr dk p;u dhft,A 
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71. If Suresh reached some place on 

Tuesday, he said that he has come 

3 days before then on what day the 

man reached who was late by 4 

days ? 

(1) Monday  

(2) Tuesday 

(3) Wednesday  

(4) Thursday 

  
71. ;fn eaxyokj dks fdlh LFkku ij igq¡pdj 

lqjs’k us dgk fd og rhu fnu igys vk 

x;k gS] rks og vkneh ml LFkku ij fdl 

fnu igqpk tksfd 4 fnu nsj ls FkkA 

 

(1) lkseokj   

(2) eaxyokj 

(3) cq/kokj  

(4) ohjokj 
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72. In the following question, figure 

(X) is given in which a point is 

established. Four other answer 

figures (1), (2), (3) and (4) are 

given after this figure. Only one of 

these answer figures is such that 

it is possible to establish the point 

according to the conditions given 

in figure X. Find the correct 

Answer figure. 

 

  

72. fuEufyf[kr iz’u esa vkd`fr X nh x;h gS 
ftlesa ,d fcUnq LFkkfir gSA bl vkd`fr ds 
ckn pkj vU; mÙkj vkd`fr;k¡ (1), (2), 
(3) vkSj (4) nh xbZ gSaA bu mÙkj 
vkd`fr;ksa eas ls ek= ,d vkd`fr ,slh gS 
tks vkd`fr X eas nh xbZ 'krksZa ds vuqlkj 
fcUnq ds LFkkiu dks laHko cukrh gSA lgh 
mÙkj vkd`fr Kkr dhft,A 

 

73. If the words ‘INTIMATION’, 

INFORMATION, INTEREST, 

INTERROGATION, INSTIGATION’ 

are kept in order according to the 

dictionary, which will be the 4th 

letter from the left side in the last 

word ? 

(1) R  (2) O 

(3) T  (4) I 

  
73. ;fn 'kCnksa ‘INTIMATION’, 

INFORMATION, INTEREST, 

INTERROGATION, INSTIGATION’ 
dks 'kCndks"k ds vuqlkj ØeiwoZd j[kk tk,] 
rks vfUre 'kCn esa ck;ha vksj ls pkSFkk v{kj 
dkSu&lk gksxk \ 
 

(1) R  (2) O 

(3) T  (4) I 
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74. Age of D is middle among five 

friends, K is the youngest. U is 

greater than N and N, is smaller 

than A and D. Who is the biggest 

among them ? 

(1) A 

(2) U 

(3) N 

(4) Things given are insufficient 

  
74. ik¡p fe=kas eas D dh vk;q e/; eas gSA K 

lcls NksVk gSA U, N ls cM+k gS rFkk N, 

A vkSj D dh vis{kk NksVk gSA buesa lcls 

cM+k dkSu gS \ 

 

(1) A 

(2) U 

(3) N 

(4) nh gqbZ ckrsa vi;kZIr gSa 

75. Four complex shapes followed by 

an X are given such that the shape 

X is embedded in one of the four. 

Choose the correct option.  

 

  

75. ,d vkd`fr X ds ckn pkj tfVy 

vkd`fr;ksa dks bl izdkj ls fn;k x;k gS fd 

vkd`fr pkjkas eas ls fdlh ,d esa vUrfuZfgr 

gSA lgh fodYi dk p;u dhft,A 
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Direction : (Q. 76 & 77) In each of the 

following question, two statements A and 

B are given, based on their conclusions. 4 

statements are given. Candidates have 

to guess the correct conclusions, 

considering both the statement to be true 

even if they seem to be false. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 76    o o o o 77½½½½    fuEufyf[kr izR;sd iz’u 

esa nks dFku A o B fn, x, gSa] bu dFkuksa ij 

vk/kkfjr pkj fu"d"kZ fn, x, gSa vH;fFkZ;ksa dks 

nksuksa dFku lR; ekudj] pkgs os vlR; izrhr gksrs 

gSa] lgh fu"d"kZ Nk¡Vuk gSA 

76. Statement :  (A) Ajay is an artist. 

   (B) Artists are 

Handsome. 

Conclusions : (1) All Handsome 

people are 

artists. 

 (2) Ajay is 

handsome. 

 (3) Ajay is not 

handsome. 

 (4) Handsome 

people are not 

artists. 

  
76. dFku %dFku %dFku %dFku % (A) vt; ,d dykdkj gSA 

  (B) dykdkj lqUnj gksrs gSaA 

 

fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ %    (1) lc lqUnj yksx dykdkj gksrs 

gSaA 

 

  (2) vt; lqUnj gSA 

 

  (3) vt; lqUnj ugha gSA 

 

  (4) lqUnj yksx dykdkj ugha 

gksrs gSaA 
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77. Statement :  (A) All Knowledge 

is good. 

   (B) All Knowledge 

is difficult. 

Conclusions : (1) Some good 

things are hard. 

 (2) All difficult 

things are 

difficult. 

 (3) All good things 

are Hard. 

 (4) Simple things 

are not 

Knowledge. 

  
77. dFku %dFku %dFku %dFku % (A) lHkh Kku vPNk gksrk gSA 

 

  (B) lHkh Kku dfBu gSA 

 

fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ %    (1) dqN vPNh phtsa dfBu gSaA 

 

  (2) lHkh dfBu phtsa dfBu gksrh 

gSaA 

 

  (3) lHkh vPNh phtsa dfBu gksrh 

gSaA 

  (4) ljy phtas Kku ugha gksrh 

gSaA 

78. If the English alphabet is written 

in reverse order, which will be the 

third letter to the right of the15th 

letter from the left ? 

(1) I  

(2) H 

(3) G  

(4) J  

  
78. ;fn vaxzsth o.kZekyk dks myVs Øe esa fy[kk 

tk,xk] rks ck;sa ls 15osa v{kj ds nk;ha 

vksj rhljk v{kj dkSu&lk gksxk \  

 

(1) I  

(2) H 

(3) G  

(4) J 
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79. The managing director of a firm 

arrived at the conference Hall 10 

minutes before 12:30 to interview 

and it was 20 minutes before the 

chairman. If the chairman arrived 

half an Hour late than the 

scheduled time for interview, than 

what was the scheduled time for 

the interview ? 

(1) 11 : 55   

(2) 12 : 05 

(3) 12 : 15   

(4) 12 : 10 

  
79. fdlh QeZ dk eSusaftax Mk;jsDVj bUVjO;w 

ysus gsrq dkWUÝsl gkWy esa 12:30 ctus eas 

10 feuV igys igq¡pk vkSj ;g pS;jeSu ls 

20 feuV igys FkkA ;fn pS;jeSu bUVjO;w 

ds fu/kkZfjr le; ls vk/kk ?k.Vk nsj ls 

igq¡ps] rks bUVjO;w dk fu/kkZfjr le; D;k 

Fkk \ 

 

 

(1) 11 : 55   

(2) 12 : 05 

(3) 12 : 15   

(4) 12 : 10 

80. How many such 4 are there in the 

following number series, where 3 

is immediately before and 2 is 

immediately after. 

 45362434293410342743234234 

(1) 2  

(2) 3 

(3) 4  

(4) 5 

  
80. fuEufyf[kr la[;k Js.kh esa ,sls fdrus 4 gSa 

ftuds Bhd igys 3 rFkk Bhd ckn esa 2 

gks \ 

 

 45362434293410342743234234 

(1) 2  

(2) 3 

(3) 4  

(4) 5 
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Direction :  (Q. 81 to 83) Choose water 

Image of given figure/words (X) : 

  

funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 81    ls ls ls ls 83½½½½ nh xbZ vkd`fr@'kCnksa 

(X) dk ty fp= pqfu, % 

81. 
 

(1)  

(2)  

(3)  

(4)  

  

81. 
 

(1)  

(2)  

(3)  

(4)  

82. 

 

(1)  

(2)  

(3)  

(4)  

  

82. 

 

(1)  

(2)  

(3)  

(4)  

∆ ∆ 

Downloaded from cclchapter.in



  ( 39 ) A 

NTSE-Class-10th(MAT)-Dec.-2020  P. T. O. 

83. 
 

(1)   

(2)  

(3)   

(4)  

  

83. 
 

(1)   

(2)  

(3)   

(4)  

Direction :  (Q. 84 to 86) Choose Mirror 

Image of given figure/words (x) : 

  

funsZ’k % ¼ifunsZ’k % ¼ifunsZ’k % ¼ifunsZ’k % ¼iz0 z0 z0 z0 84    ls ls ls ls 86½½½½ nh x;h vkd`fr@'kCnksa 

(x) dk niZ.k fp= pqfu, % 

84. 
 

(1)   

(2)  

(3)   

(4)  

  
84. 

 

(1)   

(2)  

(3)   

(4)  

85. 

 

(1)   

(2)  

(3)   

(4)  

  

85. 

 

(1)   

(2)  

(3)   

(4)  
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86. 

 

(1)   

(2)  

(3)   

(4)  

  

86. 

 

(1)   

(2)  

(3)   

(4)  

87. 

 

Which Number is opposite to 4 ? 

(1) 2 

(2) 5 

(3) 1  

(4) 3 

  

87. 

 

4 ds foijhr dkSu&lk vad gS \ 

(1) 2  

(2) 5 

(3) 1  

(4) 3 
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88. What is opposite to $ ? 

  

(1) | (2) # 

(3) @ (4) % 

  

88. $ ds foijhr D;k gS \ 

  

(1) | (2) # 

(3) @ (4) % 

Direction : (Q. 89 to 91) In a given 

cube : 

(a) Red colour is opposite to Black. 

(b) Green is between Red & Black. 

(c) Brown and Blue near to each other. 

(d) Blue & White near to each other. 

(e) Red colour on base. 

Give answer on the bases of given 

information : 

  
funsfunsfunsfuns Z’k % ¼Z’k % ¼Z’k % ¼Z’k % ¼iziziziz0000    89    ls ls ls ls 91½½½½ fn, x, ?ku esa % 

 

(a) yky jax dkys ds foijhr gSA 

(b) gjk] yky vkSj dkys ds chp gSA 

(c) Hkwjk vkSj uhyk jax vkil esa ikl gSaA 

(d) uhyk vkSj lQsn vkil esa ikl gSaA 

(e) yky jax vk/kkj ij gSA 

Åij nh xbZ tkudkjh ds vk/kkj ij mÙkj nsa % 

89. Which 4 colour are near to each   

other ? 

 (1) Black, Blue, Brown, Red 

(2) Green, Brown, Red, White 

(3) Blue, Brown, Red, White 

(4) Black, Blue, Red, White 

  
89. ,d nwljs ds ikl 4 jax dkSu&ls gSa \ 

 

(1) dkyk] uhyk] Hkwjk] yky 

(2) gjk] Hkwjk] yky] lQsn 

(3) uhyk] Hkwjk] yky] lQsn 

(4) dkyk] uhyk] yky] lQsn 
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90. Which colour is opposite to white ? 

(1) Brown 

(2) Red 

(3) Green  

(4) Blue 

  
90. lQsn jax ds foijhr dkSu&lk jax gS \ 

(1) Hkwjk 

(2) yky 

(3) gjk  

(4) uhyk 

91. Conclusion of (a) and (e) Point : 

(1) Blue colour on Top 

(2) Black colour on Top 

(3) Green colour on Top 

(4) White colour on Top 

  
91.  (a) vkSj (e) dk fu"d"kZ % 

(1) uhyk jax 'kh"kZ ij 

(2) dkyk jax 'kh"kZ ij 

(3) gjk jax 'kh"kZ ij 

(4) lQsn jax 'kh"kZ ij 

Direction :  (Q. 92 to 94) Each side of 

solid cube is 12 cm. The opposite faces of 

this Cube are painted Red, Blue and 

Black. After this, the cube is cut into 

small cubes whose each side is 2 cm. 

Answer the following questions on this 

basis : 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 92    ls ls ls ls 94½½½½ ,d Bksl ?ku dh 

izR;sd Hkqtk 12 lseh- gSA bl ?ku ds foijhr 

Qyd ;qXeksa dks yky] uhys vkSj dkys jax ls jaxk 

tkrk gSA blds ckn bls 2 lseh- Hkqtk okys 

?kukdkj VqdM+ksa esa dkVk tkrk gSA bl vk/kkj ij 

fuEufyf[kr iz’uksa ds mÙkj nhft, % 
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92. What will be the number of cubes 

with colourless faces ? 

(1) 8 

(2) 27 

(3) 36 

(4) 64 

  
92. jaxghu Qydksa okys ?kuksa dh la[;k fdruh 

gksxh \ 

(1) 8 

(2) 27 

(3) 36 

(4) 64 

93. What will be the number of cubes 

with three faces painted in three 

different colors ? 

(1) 0 

(2) 4 

(3) 8 

(4) None of these 

  
93. rhu vyx&vyx jaxksa ls jaxs rhu Qydksa 

okys ?kuksa dh la[;k fdruh gksxh \ 

 

(1) 0 

(2) 4 

(3) 8 

(4) buesa ls dksbZ ugha 

94. How many cubes will have one of 

its face Red and other faces 

Colourless ? 

(1) 18  

(2) 24 

(3) 32  

(4) 36 

  
94. fdrus ?kuksa dk ek= ,d Qyd yky jax dk 

vkSj vU; Qyd fcuk jax ds gksaxs \ 

 

(1) 18  

(2) 24 

(3) 32  

(4) 36 
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95. Select a proper group of letters 

from the given alternations : 

 

c__ bbb __ __ abbbb__ abbb___ 

(1) aabcb   

(2) abccb 

(3) abacb   

(4) bacbb 

  

95. fn, x, fodYiksa esa ls v{kjksa dk ,d lgh 

lewg pqfu, ftuls fjDr LFkkuksa dh iwfrZ dh 

tk lds % 

c__ bbb __ __ abbbb__ abbb___ 

(1) aabcb   

(2) abccb 

(3) abacb   

(4) bacbb 

96. In a certain code language 

GARNISH is written as 

RGAINHS. What will GENIOUS 

be written in that code language ? 

 

(1) NEGOISU 

(2) NGEOISU 

(3) NGESUOI 

(4) NEGSUOI 

  
96. ,d fuf’pr dwV Hkk"kk esa GARNISH dks 

RGAINHS fy[kk tkrk gS] rks bl Hkk"kk 

esa GENIOUS dk dwV D;k gksxk \ 

 

(1) NEGOISU 

(2) NGEOISU 

(3) NGESUOI 

(4) NEGSUOI 
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97. In a certain code language INKER 

is written as GLLGT and GLIDE 

is written as EJJFG. What will 

JINKS be written in that code 

language ? 

(1) GFOMU   

(2) HGMMU 

(3) HGOGH   

(4) HGOMU 

  
97. ,d fuf’pr dwV Hkk"kk esa INKER dks 

GLLGT fy[kk tkrk gS vkSj GLIDE dks 

EJJFG fy[kk tkrk gS] rks bl Hkk"kk esa 

JINKS dk dwV D;k gksxk \ 

 

(1) GFOMU   

(2) HGMMU 

(3) HGOGH   

(4) HGOMU 

98. If U is denoted by 7, M by 2, I by 5, 

O by 1, K by 8 and J by 4, then 

what will be the numeric form of 

the word MOUJIK, when written 

in the reverse order ? 

(1) 217458  

(2) 845712 

(3) 854712  

(4) 857412 

  
98. ;fn U dks 7, M dks 2, I dks 5, O dks 1, 

K dks 8 vkSj J dks 4 }kjk fpfUgr fd;k 

tkrk gSA rc myVs Øe esa fy[ks tkus ij 

MOUJIK dk la[;kRed :i D;k 

gksxk \ 

(1) 217458  

(2) 845712 

(3) 854712  

(4) 857412 
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Direction : (Q. 99 & 100) Choose wrong 

number in the given series. 

  
funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 funsZ’k % ¼iz0 99    ,oa,oa,oa,oa    100½½½½ nh xbZ Ük`a[kyk esa 

xyr la[;k NkafV, % 

99. 10, 26, 74, 218, 654, 1946, 5834 

(1) 26  

(2) 74 

(3) 218  

(4) 654  

  
99. 10, 26, 74, 218, 654, 1946, 5834 

(1) 26  

(2) 74 

(3) 218  

(4) 654 

100. 325, 259, 202, 160, 127, 105, 94 

(1) 94  

(2) 127 

(3) 105  

(4) 202 

  
100. 325, 259, 202, 160, 127, 105, 94 

(1) 94  

(2) 127 

(3) 105  

(4) 202 
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5. iz'uksa ds mÙkj] mÙkj-i=d esa fu/kkZfjr [kkuksa dks dkys ckWy 
IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd uhps fn[kk;k 
x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  5. Answers   to  questions  in answer sheet are  to  be  given 
by darkening complete circle using Black ball point pen as 
shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as 
given below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

6. jQ dk;Z iz'u iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh 
txg ij gh djsaA 

  6. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

7. lHkh mÙkj dsoy mÙkj-i=d (OMR) ij gh vafdr djsaA vius 
mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd 
¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

  7. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

8. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, mÙkj-i=d (OMR) ij dsoy ,d gh oÙ̀k      
dks iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA ,d ckj mÙkj 
vafdr djus ds ckn mls cnyk ugha tk ldrk gSA 

  8. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed to 

be changed. 

9. vH;FkhZ lqfuf’pr djsa fd bl mÙkj-i=d dks eksM+k u tk,  ,oa 
ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk vuqØekad 
mÙkj-i=d esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA 

  9. The candidates should ensure that the Answer Sheet is 

not folded. Do not make any stray mark on Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

10. iz'u iqfLrdk ,oa mÙkj-i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd 
fdlh Hkh ifjfLFkfr esa ¼dsoy iz'u iqfLrdk ,oa mÙkj-i=d ds 
Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk 
lSV miyC/k ugha djokbZ tk,xhA 

  10. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of Test 

Booklet will not be provided. 

11. iz'u iqfLrdk@mÙkj-i=d esa fn, x, Øekad dks vH;FkhZ lgh 
rjhds ls gkftjh i= esa fy[ksaA 

  11. The candidates will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

12. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds flok; fdlh 
izdkj dh ikB~;-lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh 
vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr 
ugha gSA 

  12. Candidates are not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

13. fujh{kd }kjk ekaxs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ 
¼jksy ua0½ fn[kk,¡A 

  13. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

14. dsUnz v/kh{kd ;k fujh{kd dh fo’ks"k vuqefr ds fcuk dksbZ 
vH;FkhZ viuk LFkku u NksMa+sA 

  14. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

15. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA   15. Use of Electronic/Manual Calculator is prohibited.  

16. fdlh gkyr esa iz'u iqfLrdk vkSj mÙkj-i=d dk dksbZ Hkkx 
vyx u djsaA 

  16. No part of the Test Booklet and Answer Sheet shall be 

detached under any circumstances. 

17. ijh{kk lEiUu gksus ij] vH;FkhZ ijh{kk d{k@gkWy NksM+us ls iwoZ 
mÙkj- i=d d{k&fujh{kd dks vo’; lkSai nsaA vH;FkhZ vius 
lkFk iz'u iqfLrdk dks ys tk ldrs gSaA 

  17. On completion of the test, candidate must hand over the 

Answer Sheet to the Invigilator in the Room/Hall. 

Candidates are allowed to take away this Test Booklet 

with them. 
 

� � 
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